
PR X (01) 18 
Mathematics (New) 

10th (Fresh/Reappear) 
 

Note: Time allowed for Section – B and Section – C is 2 Hours and 40 minutes. 
 Section – B  Marks: 36 
Q-II Attempt any NINE parts. Each part carries FOUR marks.  
 

1. use synthetic division to find the value of “K” if “–2” is a zero of polynomial x3 + 4x2 + kx + 8  

2. Prove that 
2 2 2

2 2 2
a c e Pa qc e
b d f Pb qd f

 
  

 
 

3. Solve 2x – y = 3, x2 + y2 = 2  
4. A ladder makes an angle of 60 with the ground and reaches a height of 6 m on the wall,  

find the length of ladder.  
5. Solve x2 + 6x – 40 = 0 by quadratic formula.  

6. Resolve into partial fractions 1
(x 1)(x 2) 

 

7. If U = {1,2,3,……..,20} and A = {2,4,6,8} then find /A and /U  
8. Find Arithmetic Mean of the given data.  

x 9 10 12 13 18 
f 2 1 3 2 3 

 

9. Domain of a binary relation R = {(x,y)|y + 1 = 2x2} is set N. Find range of R.  

10. Solve 3x 2 x 4
13x 2 x

 


 
 

11. Solve 41+x + 41–x = 10 

12. Prove that 1 Sin Cos
Cos 1 Sin
  


  

 

 Section – C  Marks: 24 
Note : Attempt any THREE questions. All questions carry equal marks. 
 

Q-III Inscribe a regular hexagon in a circle of radius 6 cm.  
  

Q-IV Prove that the angle in a semi-circle is a right angle.  
  

Q-V Prove that if a line is drawn perpendicular to a radial segment of a circle at its outer end point,  
it is tangent to the circle at that point.  

  
 

Q-VI Prove that if two arcs of a circle are congruent then the corresponding chords are equal.  

 ) ج(اور ⒳  ) ب(䔘: -   ⒳ٹ ǖ ǖ͋   䞀 㾑۔  ㏨40  2㇏ ⺵ و
   ⒳)ت )ب㑗⟷ ء و⡍ 䬚䄍 اردو 䥞ٳا ǌɟ   䓖۳۶  

ǔٳو ᨴ ㈉ر 䞀 䓖۔ ) 9(درج ذ␰II-   䔘 ╌ 䆀  䫡ال  ُǌٳ ؼ Ǐɝ ۔㟏 ٱتǌ˄اᣅ 㰗 ㈉ ٳاءǔ ǌاؼ  
)۱(   ⴂر ⷒ 䯆۔ ا䮨⸗ م㸈 ⴶ ㅎ K ኩ Ų ǌƷǎ ƹĺٳ ǖɟ  䩘ذر ㈉  

䜫(-2)۔     ✹ ⵇx3 + 4x2 + kx + 8 
  )۲(  〪 䮨⸗  ǖ ǌҍٱ Ǖ˄: 

2 2 2

2 2 2
a c e Pa qc e
b d f Pb qd f

 
  

 
  

)۳(  䮨⸗ ỡ: 2x – y = 3  اور x2 + y2 = 2     )۴(   ᏼ⁩ ㈉ 䅠ز 䡏⒙  ǎ60ا׏ 䯎 ار䮩۔ اور د䞈 ᒖ  ৄ䮪زاو ⵇ6 ىॷ ㅎ ٳ Ǘ ǎҢ  
 䞈 ວ۔ 㸈 䤈㠠 ㅎ 䡏⒙م ⸗䮨۔ ǖ׏   

ǔٳوى ⸰وں ۶(  䮨⸗ ᅠ 䆀(   㱉وات  〨 x2 + 6x– 40 = 0 دو در㈉ ⼿ ᧘ ذر䮨⸗ ỡ 䩕۔   )۵( ǌ1: ؼ
(x 1)(x 2) 

  
)۷(   䯆اU = {1,2,3,……..,20}  اور 䜫A = {2,4,6,8} Ꮰ 䜫  

/Aاور/U  ۔䮨⸗ م㸈  
  )۸(  䯆ا 䮨⸗ م㸈 ∓او ஗ṣ  

x 9 10 12 13 18 
f 2 1 3 2 3 

)۹(    Ǘ ǎږN  ر࠳ 䆀R = {(x,y)|y + 1 = 2x2}  䅠ڈو ⵇN  ۔䞈R  ㅎ
  ر㸈 䭟م ⸗䮨۔ 

㱉䮨⸗ ỡ 〨 : 3xوات   )۱۰(   2 x 4
13x 2 x

 


 
  

)۱۱(  41+x + 41–x = 10    ⸗䮨⸗ ỡ   )۱۲(  䮨۔   ǖ ǌҍٱ Ǖ˄ 〪 : 1 Sin Cos
Cos 1 Sin
  


  

  
    ⒳)ج(   䓖۲۴  

ٳ 䞀۔   - :䔘ٹ ǌɟٳا ǌɟ 䓖 ㈉ ال␰ ٳ Ǐɝ ۔ ㅿ ٳ ǎɟᅀ ٱتǌ˄اᣅ ㈉ ت㑔ا␰ ᓕ ╌ 䤈〨  
    

 III- ال␰ 6  ۔䮨⸗ ر㯟 〨 س㲮  ǎا׏ 䆀 ٳے ǘɟدا 㩔ٳ رداس وا Ǘ ǎҢ ┏  
IV-ال␰  〪  䮨⸗  ǖ ǌҍٱ Ǖ˄ ر㯟 䆀 ٳے ǘɟدا 䍚 䮪ٱزاو ǖ˄ 䜫 䣥Ⱄ  ۔䞈  
V- ال␰  〪  䮨⸗  ǖ ǌҍٱ Ǖ˄ ۔㈊䜫 س㽐 ⵇ ٳے ǘɟدا 䯎 䏱 وہ اس Ꮰ 䥞ᜯ ㄸ د⦫ 䯎 ے⇤ 䕉و௡ ㈉ Ⲕ ⑬ردا ㈉ ٳے ǘɟدا ⹔ 䯆ا  

VI- ال␰  〪  䮨⸗  ǖ ǌҍٱ Ǖ˄۔㑒 ں䜫 ᜆ㫜 ଺ 䮨ٳ ǖɟو 㪼 Ꮰ ں䜫 ᜆ㫜 ⓹ⴑ دو ㈉ ٳے ǘɟدا 䯆ا  
 


